
§·¤æ§ü / Unit-I

1. (a) çÙ`ÙçÜç¹Ì ·¤æÕæðü·ð¤ÅUæØÙæð´ ·¤æð ©UÙ·ð¤ SÍæçØˆß
·ð¤ ÕÉ¸UÌð ãé° ·ý¤× ×ð´ ÃØßçSÍÌ ·¤èçÁ° Ñ

(i)
+

3 2CH CH

(ii)
+

3CH
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ÙôÅU Ñ âÖè ÂýàÙæð ´ ·ð¤ ©UîæÚU ÎèçÁ°Ð ÂýàÙæð´ ·ð¤ ¥¢·¤ ©UÙ·ð¤
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Note : Answer all questions. The figures in the right-
hand margin indicate marks.
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(iii)  
+

3 3CH C

(iv)  
+

3 2CH CH

Arrange the following carbocations in
their increasing order of stability :

(i)
+

3 2CH CH

(ii)
+

3CH

(iii)  
+

3 3CH C

(iv)  
+

3 2CH CH

(b) ÂýðÚUç‡æ·¤ ÂýÖæß ÌÍæ §Üð@ÅþUæð×ðçÚU·¤ ÂýÖæßæð´ ×ð´
¥‹ÌÚU SÂcÅU ·¤èçÁ°Ð

Write the difference between inductive
effect and electromeric effects.

(c) ·¤æÕæðü·ð¤ÅUæØÙ @Øæ ãñ´U? §â·¤è â¢ÚU¿Ùæ °ß¢
SÍæçØˆß â×Ûææ§°Ð

What are carbocations ? Explain their
structure and stability.

¥Íßæ / OR

(a) ·¤æÕðüÙæØÙ ·ð¤ ·¤æÕüÙ ÂÚU×æ‡æé ×ð´ ·¤æñÙ-âæ
â¢·¤ÚU‡æ ÂæØæ ÁæÌæ ãñU?

( 2 )
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( 3 )
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Which type of hybridization is found in
carbon atom of carbanion ?

(b) §Üð@ÅþUæðÈ¤æ§Ü ÌÍæ ‹Øêç@Ü¥æðÈ¤æ§Ü @Øæ ãñ´ U?
©UÎæãUÚU‡æ âçãUÌ â×Ûææ§°Ð

What are electrophiles and nucleophiles ?
Explain with examples.

(c) ¥ÙéÙæÎ âð ¥æÂ @Øæ â×ÛæÌð ãñ´ U? ¥ÙéÙæÎ ·¤è
ÏæÚU‡ææ ·ð¤ ·¤æð§ü Îæð ¥ÙéÂýØæð» â×Ûææ§°Ð

What do you understand by resonance ?
Write any two applications of concept of
resonance.

§·¤æ§ü / Unit-II

2. (a) çÙ`ÙçÜç¹Ì ×ð´ âð ·¤æñÙ-âæ Øæñç»·¤ …Øæç×çÌØ
â×æßØßÌæ ÎàææüÌæ ãñU?

(i) v-Âð‹ÅUèÙ

(i) w-Âð‹ÅUèÙ

(iii) v-µØêÅUèÙ

(iv) v-ãðUŒÅUèÙ

Which of the following compounds
exhibit geometrical isomerism ?
(i) 1-Pentene
(ii) 2-Pentene
(iii) 1-Butene
(iv) 1-Heptene
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( 4 )
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(b) …Øæç×ÌèØ â×æßØçßØæð´ ·¤è E ¥æñÚU Z
Ùæ×·¤ÚU‡æ ÂhçÌ ÂÚU °·¤ çÅUŒÂ‡æè çÜç¹°Ð

Write a note on E and Z nomenclature
of geometrical isomers.

(c) çßçácÅU ƒæê‡æüÙ @Øæ ãñU ÌÍæ ç·¤Ù ÕæÌæð´ ÂÚU
çÙÖüÚU ·¤ÚUÌæ ãñU? §â·¤æ âê˜æ ÕÌæ§°Ð

What is specific rotation and it depends
on which factors ? Write its formula.

¥Íßæ / OR

(a) Üðç@ÅU·¤ ¥`Ü ç·¤â Âý·¤æÚU ·¤è â×æßØßÌæ
ÎàææüÌæ ãñU?
(i) …Øæç×ÌèØ

(i) â¢ÚU¿Ùæˆ×·¤

(iii) Âý·¤æçàæ·¤

(iv) ç·ý¤Øæˆ×·¤

Which type of isomerism is shown by
lactic acid ?
(i) Geometrical
(ii) Structural
(iii) Optical
(iv) Functional

(b) çÙ`ÙçÜç¹Ì ÂÚU â¢çÿæŒÌ çÅUŒÂç‡æØæ¡ çÜç¹° Ñ

(i) ×èâæð Øæñç»·¤

(ii) ÚðUâðç×·¤ ç×Ÿæ‡æ

3

3

1

4



Write short notes on the following :
(i) Meso compounds
(ii) Recemic mixture

(c) Üðç@ÅU·¤ ¥`Ü Âý·¤æçàæ·¤ â×æßØßÌæ ÎàææüÌæ ãñ
ç·¤‹Ìé ÂýæðçÂØæðçÙ·¤ ¥`Ü ÙãUè´, @Øæð´?

Lactic acid exhibit optical isomerism but
propeonic acid not, why ?

§·¤æ§ü / Unit-III

3. (a) ÕðØÚU ·ð¤ ÌÙæß çâhæ‹Ì ·ð¤ ¥ÙéâæÚU çÙ`ÙçÜç¹Ì
×ð´ âð ·¤æñÙ âÕâð ¥çÏ·¤ SÍæØè ãñU?

(i) âæ§@ÜæðÂýæðÂðÙ

(i) âæ§@ÜæðµØêÅUðÙ

(iii) âæ§@ÜæðÂð‡ÅðUÙ

(iv) âæ§@ÜæðãðU@âðÙ

Which of the following is most stable
according to Bayer’s strain theory :
(i) Cyclopropane
(ii) Cyclobutane
(iii) Cyclopentene
(iv) Cyclohexane

(b) ÕðØÚU ·ð¤ ÌÙæß çâhæ‹Ì mæÚUæ ç·¤â Âý·¤æÚU
¿·ý¤èØ Øæñç»·¤æð´ ·¤æ SÍæçØˆß ™ææÌ ç·¤Øæ Áæ
â·¤Ìæ ãñU, ÕðØÚU ·ð¤ ÌÙæß çâhæ‹Ì ·¤è ·¤ç×Øæ¡
çÜç¹°Ð

( 5 )
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How the stability of cyclic compounds
can be determined by Bayer’s strain
theory ? Write the drawbacks of Bayer’s
strain theory.

(c) âæ§@ÜæðãðU@âðÙ ·ð¤ ·é¤âèü â¢L¤ÂÙ ×ð´ ¥ÿæèØ °ß¢
¥ÙÿæèØ Õ¢Ï ·¤æ ß‡æüÙ ·¤èçÁ°Ð

Describe the axial and non-axial bond in
chair conformation of cyclohexane.

¥Íßæ / OR

(a) âæ§@Üæð°Ë·ð¤Ùæð´ ×ð´ Õæsï ·¤æð‡æ ·¤æ ×æÙ ãUæðÌæ
ãñU Ñ
(i) 360°/n
(ii) 3400°/n
(iii) 320°/n

(iv) §Ù×ð´ âð ·¤æð§ü Öè ÙãUè´

The value of exterior angle in cycloalkane
is :
(i) 360°/n
(ii) 3400°/n
(iii) 320°/n
(iv) None of these

(b) âæ§@ÜæðµØêÅUðÙ ÌÍæ âæ§@ÜæðÂýæðÂðÙ ×ð´ çß·ë¤çÌ ·¤æ
×æÂ Ü»Ö» °·¤ âæ ãñU ç·¤‹Ìé âæ§@ÜæðãðU@âðÙ
¥çÏ·¤ SÍæØè ãñUÐ §â ÕæÌ ·¤æð â×Ûææ§°Ð

( 6 )
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( 7 )

Degree of distortion is almost same in
cyclobutene and cyclopropane, but
cyclohexane is more stable. Explain the
statement.

(c) ÌÙæß ÚUçãUÌ ßÜØæð´ ·ð¤ âæ@âð-×æðãUÚUßæÎ ·¤æ
ß‡æüÙ ·¤èçÁ°Ð

Describe the Sachse-Mohr theory of
strainless rings.

§·¤æ§ü / Unit-IV

4. çÙ`ÙçÜç¹Ì ÂÚU â¢çÿæŒÌ çÅUŒÂç‡æØæ¡ çÜç¹° Ñ

(a) ãUæ§ÇþUæðÕæðÚðUàæÙ

(b) ×é@Ì ×êÜ·¤ °çÜçÜ·¤ ÂýçÌSÍæÂÙ

(c) ÂÚUæ@âæ§ÇU ÂýÖæß

Write short notes on the following :
(a) Hydroboration
(b) Free radical allylic substitution
(c) Peroxide effect

¥Íßæ / OR

(a) ÇUèËâ-°ËÇUÚU ¥çÖç·ý¤Øæ ÂÚU °·¤ çÅUŒÂ‡æè
çÜç¹°Ð §â·ð¤ Îæð ©UÎæãUÚU‡æ °ß¢ ¥ÙéÂýØæð»
ÎèçÁ°Ð

Write short notes on Diels-Alder reaction.
Give its two examples and write its
applications.
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( 8 )

(b) â¢Øéç‚×Ì ÇUæ§-§üÙ ·ð¤ SÍæçØˆß ·¤æð â×Ûææ§°Ð

Explain the stability of conjugated diene.

§·¤æ§ü / Unit-V

5. (a) ¥‡æé·¤ÿæ·¤ çâhæ‹Ì ·ð¤ ¥æÏæÚU ÂÚU Õð´ÁèÙ ·¤è
â¢ÚU¿Ùæ â×Ûææ§°Ð

Describe the structure of benzene on the
basis of molecular orbital theory.

(b) Èý¤èÇUÜ-·ý¤æRÅU ¥çÖç·ý¤Øæ ·¤è ç·ý¤ØæçßçÏ
â×Ûææ§°Ð

Explain the mechanism of Friedel-Crafts
reaction.

¥Íßæ / OR

(a) Õð´çÁÙ ÙæçÖ·¤ ·¤è ÂýçÌSÍæÂÙ ç·ý¤Øæ¥æð´ ×ð´
â×êãUæð´ ·ð¤ çÙÎðüàæÙ ÂýÖæß ÂÚU â¢çÿæŒÌ çÅUŒÂ‡æè
çÜç¹°Ð

Write a short note on directive effect of
groups on substitution reaction of benzene
nucleus.

(b) Õð´çÁÙ ×ð´ Ùæ§ÅþUè·¤ÚU‡æ ·¤æð â×Ûææ§°Ð

Explain nitration in benzene.
———
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